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FP A A S B R A T B R LR 0. 03581 — FP R A S B R A T B R LR 0. 03802 —
{5 R 1 % R A Bk BEBRLL R 0. 02606 — {5 R 1 % AR A ek BEB AL R 0. 02523 —
A AN —T VLR 1 km¥4 72 0 gk e (ki) 97, 387 M km A BN —T VLR 1 km¥4 72 0 gk e (ki) 108, 130 M km
AA N —T VLR 1 km¥4 72 0 Mgk e (AR 91, 956 M km AANAF—T VLR 1 km¥4 72 0 Mgk fh e (AR 102, 124 M km
ABNA—T VAR 1 km¥4 T2 0 ik fh e CET ) 95, 275 M km A BNV —TVIER 1 km4 72 Y ikt e CEFIR) 106,010 M,/ km
A BNV —TVIER 1 km4 7= 0 ik et (i) 99, 801 M km A BN —TVIER 1 km4 7= 0 figk et (ki) 110, 957 M km
A BNV —TVIER 1 km4 7= 0 ik R4t (B R) 94, 068 M km A BNV —TIVIER 1 km4 7= 0 ik R4t (B R) 104, 597 M/ km
AA N —T VAR 1 km¥4 72 0 Mgk e e (L) 96, 784 M km A BNV —TIVIER 1 km4 72 0 ik e . (ILWER) 107, 424 M,/ km
ABNA—T VIR 1 km¥4 72 0 Mgk fh e (SR 98, 594 M. km ABNA—T VAR 1 km¥4 72 0 Mgk R e (SR 109, 190 M km
AB N —T VLR 1 km¥4 72 0 Mgk e (R 97,991 M km ABNA—T VLR 1 km¥4 72 0 Mgk e (R 110, 603 M km
AB N —T VAR 1 km¥4 72 0 sk e (AR 97, 085 M km AB N —T VLR 1 km¥4 72 0 sk fh e (AR 109, 543 M km
ABNAF—T VLR 1 km 72 0 Mgk e (BEG I) 95, 879 M km A BN —TIVIER 1 km4 72 0 ik fr et (REE IR) 108, 130 M,/ km
ABN—T VAR 1 km¥4 72 0 Mgk fh e (BFER) 102,516 M km AANA—T VLR 1 km¥4 72 0 Mgk fh e (BFER) 115,550 M km
ABNA—T VLR 1 km¥4 72 0 Mgk e (TZER) 103, 120 M km A BN —TVIER 1 km4 72 0 ki et (THR) 116, 257 M,/ km
A BNV —TVIER 1 km4 7= 0 ik Rt (GEAUER) 109, 757 M km A BN —TIVIER 1 km4 7= 0 ik Rt (EAUER) 123,676 M km
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A B — T VHER 1 km4 7= V0 fEaR (R (L)1 15) 103, 421 M km A BNV —TIVIER 1 km4 72 U ik fraty (FZ)1R) 116,610 M km
AR — T VHER 1 km4 7 U fEaR (R (HisE) 97, 085 M km A BN —TIVIER 1 km4 72 0 fakfr et (s R) 108, 483 M/ km
AA N —T VLR 1 km¥4 72 0 Mgk e (B 100, 404 M km AANA—T VLR 1 km¥4 72 0 Mgk e (B 112,017 M km
A X —TVHER 1 km4 7= Y fER (R (6)I]15) 100, 706 M km ABNAF—T VAR 1 km¥4 72 0 gk e (Al 112,370 M/ km
AA N —T VLR 1 km¥4 72 0 Mgk e () 90, 749 M km AA N —T VLR 1 km¥4 72 0 Mgk fr 2 () 102, 477 M km
AB N —T VAR 1 km¥4 72 0 gk e (LA 101,913 M km AB N —T VLR 1 km¥4 72 0 gk e (LA 114,843 M km
AANA—T VLR 1 km¥4 72 0 Mgk fh 2 (R 97, 387 M km A BNV —TVIER 1 km4 72 0 ki e (9 5) 109, 897 M km
A BN —TVGEE 1 km4 7= 0 faakfeash (i a ) 95, 879 M/ km A BN —TVIER 1 km4 72 0 ket (B I5) 109, 190 M/ km
ABNAF—T VLR 1 km¥4 72 0 Mgk e (Frhi i) 99, 801 M km ABNAF—T VLR 1 km4 72 0 Mgk e (Fri i) 113, 430 M km
AANA—T VLR 1 km¥4 72 0 Mgk e (B 96, 180 M km ABNA—T VLR 1 km¥4 72 0 Mgk e (B 109, 543 M km
AB N —T VAR 1 km¥4 72 0 Mgk fr e (ZEE) 96, 482 M km AANA—T VLR 1 km¥4 72 0 Mgk fr e (ZEE) 109, 897 M km
ABNAF—T VLR 1 km¥4 72 0 Mgk e (RE ) 94, 973 M km AA N —T VLR 1 km¥4 72 0 Mgk e (WE ) 106, 717 M km
AB N —T VLR 1 km¥4 72 0 sk e e (R 93, 163 M. km AB N —T VAR 1 km¥4 72 0 Mgk e e (R 104, 950 M km
A AN —T VLR 1 km¥4 72 0 Mgk e (ORI 95, 879 M km AANAF—T VLR 1 km¥4 72 0 Mgk e (ORI 108, 130 M km
ABNAF—T VAR 1 km¥4 72 0 Mgk fh e (REER) 92, 258 M km ABNA—T VLR 1 km¥4 72 0 gk et (SRR 103, 890 M km
AANA—T VAR 1 km¥4 72 0 Mgk fr e GREE) 94, 973 M km AB N —T VLR 1 km¥4 72 0 Mgk fh e OGREE) 106, 717 M km
A BNV —TVIER 1 km4 72 0 gk frady (i L) 95, 275 M km A BNV —TVIER 1 km4 72 U ik frady (i L) 107,070 M km
A B —TVHER 1 km4 7= U fEaR (R (BHUE) 87, 732 M km A BN —TVIER 1 km4 72 0 ik fp et (BHUR) 99, 650 M,/ km
A — T JVRER 1 km4 7= U fEaR (R (AR IE) 87, 732 M km A BNV —TVIER 1 km4 72 0 ki et (BHRIR) 99, 650 M,/ km
A XA — T JVHER 1 km4 7 U fEaR (R4 (L E) 89, 543 M km A BNV —TVIER 1 km4 72 0 fak ey (L R) 101, 770 M km
AB N —T VLR 1 km¥4 72 0 gk fh e (RS 91, 353 M km ABNA—T VAR 1 km¥4 72 0 gk fh e RS 103, 890 M km
AA N —T VLR 1 km4 72 0 Mgk e (L) 90, 146 M km AA N —T VLR 1 km¥4 72 0 Mgk e (L) 102, 477 M km
AB N —T VAR 1 km¥4 72 0 Mgk fh e (SR 91, 353 M km AA N —T VLR 1 km¥4 72 0 Mgk fh e (SR 104, 244 M km
A XA — T VHER 1 km4 7 U fER (R 2T (F)I|E) 92, 560 M km AANA—T VLR 1 km¥4 72 0 Mgk fh e (F)IR) 105, 657 M km
A — T JVHER 1 km4 7= U fEaR (R 2T (g IE) 89, 543 M km A BNV —TIVIER 1 km4 72 0 ki et (g R) 102, 124 M km
A B —TVHER 1 km4 7 V0 fER (R (54mE) 89, 543 M km A BNV —TVIER 1 km4 72 0 ke e (5 R) 102, 124 M/ km
A BN —T VLR 1 km4 72 0 Mgk e (R i) 95, 275 M km ABNAF—T VLR 1 km4 72 0 Mgk e (R i) 107,070 M km
ABNA—T VLR 1 km¥4 72 0 gk fh et (B 94, 068 M km ABNA—T VAR 1 km¥4 72 0 gk fh et (B 105, 657 M km
AA N —T VLR 1 km¥4 72 0 Mgk fh 2 (R 91, 353 M km ABNA—T VLR 1 km¥4 72 0 Mgk fh 2 (R 102, 477 M km
ABNA—T VAR 1 km¥4 72 0 sk fh e (REAIR) 90, 146 M km AB N —T VAR 1 km¥4 72 0 gk fh e (REAIR) 101,417 M km
A AN —T VLR 1 km¥4 72 0 Mgk e (Ko ) 90, 749 M km AA N —T VLR 1 km¥4 72 0 Mgk fr e (Ko ) 102, 124 M km
A — T JVHER 1 km4 7 0 fEaR (R 2T (HigE) 89, 543 M km A BN —TVIER 1 km4 72 0 fakfp et (i R) 100, 357 M/ km
A BNV —TVIER 1 km4 72 0 gk fraty (VLS R) 91, 353 M km A BNV —TVIER 1 km4 72 0 ik fraty (VLS IR) 102, 477 M km
A B — T JVHER 1 km4 7 U fEaR (R (PPiEIE) 84, 413 M km A BNV —TVIER 1 km4 72 0 fEk iRty (PP IR) 93, 644 M,/ km
A BNV —T VNI B 72 0 M sk R 138 | M /[El# A BNV —T VNI B 72 0 M sk R 142 | M /TEIR
TN — T VAR 1 km¥S 72 0 fia 2 (AbiEE) 16, 089 M km MR — T Ve R 1 kmS 72 0 fia 2 AbiEE) 22, 802 M km
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MR — T NVAER 1 k¥ 72 0 a2 (FHRE) 15, 191 M km MAFRIE A — T NVAER 1 km¥S 72 0 st 2 (FHRE) 21, 535 M km
MR — T NVAER 1 km¥S 72 0 st 2 5 T8) 15, 740 M km MAFRIE A — T Ve R 1 km¥S 72 0 st 2 5 T8) 22, 355 M km
MIAFRIE A — T VAER 1 km¥S 72 0 a2 (i) 16, 487 M km MR — T NVAER 1 km¥S 72 0 a2 (i) 23, 398 M km
MR — T NVAER 1 km¥S 72 0 S a2 (B H ) 15, 540 M km MR — T VAR 1 km¥S 72 0 S a2 g (B ) 22, 057 M km
MAFRIE A — T VAER 1 km¥S 72 0 S a2 (LB 15, 989 M km MR — T NVAER 1 km¥S 72 0 S a2 (LB 22, 653 M km
MR — T NVAER 1 km¥S 72 0 a2 (A5 16, 288 M km MR — T VAR 1 km¥S 72 0 a2 (A5 23, 025 M km
MR — T NVAER 1 km¥S 72 0 a2 (R 16, 188 M km MIAFRIE A — T NVAER 1 km¥S 72 0 a2 (RR) 23, 323 M km
MR — T NVAER 1 km¥S 72 0 a2 (HiAL) 16, 039 M. km MR — T NVAER 1 km¥S 72 0 a2 (HiALR) 23, 100 M km
MR — T NVAER 1 km¥S 72 0 a2 (BEB ) 15, 839 M km MR — T VAR 1 km¥S 72 0 a2 (BEB ) 22, 802 M km
MR — T NVAER 1 km¥S 72 0 a2 (B EE) 16, 936 M km MIAFRIE A — T VAR 1 km¥S 72 0 a2 (B EE) 24, 367 M km
MR — T VAR 1 km¥S 72 0 S a2 (THER) 17, 036 M km MR — T Ve R 1 km¥S 72 0 fi a2 (THER) 24,516 M km
MAFRIE A — T NVAER 1 km¥S 72 0 S a2 (BaUH) 18, 132 M km MR — T NVAER 1 km¥S 72 0 S a2 (BaTH) 26, 080 M km
MR — T VAR 1 km¥4 72 0 fa gt () 1IR) 17, 085 M. km MAFRIEA — T VAR 1 km¥4 72 0 fa g et () 1IR) 24, 590 M km
TN — T NVAER 1 km¥S 72 0 S a2 g CHris i) 16, 039 M km MR — T Ve R 1 km¥S 72 0 S a2 E CHris i) 22, 876 M km
MIAFRIE A — T NVAE R 1 km¥S 72 0 S a2 (5 L) 16, 587 M km MR — T NVAER 1 km¥S 72 0 S s 22 (5 L) 23, 622 M km
MR — T Ve R 1 km¥S 72 0 S a2 ()15 16, 637 M km MR — T VAR 1 km¥S 72 0 fia 2 ()15 23, 696 M km
MR — T VAR 1 km¥S 72 0 a2 (IR 14, 992 M km MR — T Ve R 1 km¥S 72 0 a2 (IR 21, 610 M km
MIAFRIE A — T VAER 1 km¥S 72 0 S s 2E (ILBLE) 16, 836 M km MR — T NVAER 1 km¥S 72 0 S a2 E (ILBLE) 24, 218 M km
MR — T NVAER 1 km¥S 72 0 a2 (REFE) 16, 089 M. km MIAFRIE A — T NVAER 1 km¥S 72 0 a2 (REFE) 23, 174 M km
MR — T NVAER 1 km¥S 72 0 a2 E (I B 1) 15, 839 M km MR — T NVAER 1 km¥S 72 0 S 2 E (I B 1) 23, 025 M km
MIAFRIE A — T NVAER 1 kmS 72 0 a2 g (L) 16, 487 M km MR — T VAER 1 km¥S 72 0 a2 E (L) 23, 920 M km
MIAFRIE A — T NVAER 1 km¥S 72 0 a2 (Bm) 15, 889 M km MR — T NVAER 1 km¥S 72 0 a2 (BmE) 23, 100 M km
MR — T Ve R 1 km¥S 72 0 fis 2 (ZER) 15, 939 M km MR — T VAR 1 km¥S 72 0 fis e 2 (ZER) 23, 174 M km
MIAFRIE A — T VAER 1 km¥S 72 0 a2 (B 15, 690 M km MIAFRIE A — T NVAER 1 km¥S 72 0 a2 (PR 22, 504 M km
MIATIE A — T NVAE R 1 km¥S 72 0 S a2 (U 15, 391 M km MR — T VAR 1 km¥S 72 0 S a2 (LRI 22,131 M km
MIAFRIE A — T NVAE R 1 km¥S 72 0 S a2 (ORBRF) 15, 839 M. km MR — T VAER 1 kmS 72 0 S a2 (ORBRF) 22, 802 M km
MR — T NVAER 1 km¥S 72 0 S a2 g (JLEER) 15, 241 M km MIAFRIE A — T NVAER 1 km¥S 72 0 S a2 g (JLEER) 21, 908 M km
MAFRI A — T NVAER 1 k¥ 72 0 st (FRE) 15, 690 M. km MR — T VAR 1 km¥S 72 0 st 2 (FRE) 22, 504 M km
MAFRIE — T VAR 1 km¥4 72 0 fa gk e ag Rkl IR 15, 740 M km MR — T VAR 1 km¥4 72 0 fa gk e g Rkl IR 22, 578 M km
MR — T NVAER 1 km¥S 72 0 S a2 (SHIR) 14, 493 M. km MR — T NVAE R 1 km¥S 72 0 S a2 (SR 21,014 M km
MR — T VAER 1 km¥S 72 0 a2 (BRI 14, 493 M km MR — T NVAER 1 km¥S 72 0 S a2 (BRI 21,014 M km
MIAFRIE A — T NVAER 1 kmS 72 0 S g (L) 14, 793 M km MR — T NVAER 1 kmS 72 0 S g (L) 21, 461 M km
MR — T NVAER 1 km¥S 72 0 a2 (L5 15, 092 M km MR — T NVAER 1 km¥S 72 0 a2 (L5 21, 908 M km
MR — T VAER 1 kmS 72 0 a2 E (L m s 14, 892 M km MR — T VAER 1 km¥S 72 0 S g (L m ) 21, 610 M km
MIAFRIE A — T NVAER 1 km¥S 72 0 a2 () 15, 092 M km MR — T Ve R 1 km¥S 72 0 a2 () 21, 982 M km
MR — T NVAER 1 km¥S 72 0 a2 (F)IE) 15, 291 M km MR — T Ve R 1 km¥S 72 0 a2 (F)IE) 22, 280 M km
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MR — T NVAER 1 km¥S 72 0 a2 (BER) 14, 793 M km MAFRIE A — T NVAER 1 km¥S 72 0 a2 (BER) 21, 535 M km
MIAFRIE A — T VAER 1 km¥S 72 0 a2 (Fa) 14, 793 M km MIAFRIE A — T NVAER 1 km¥S 72 0 a2 (Fa) 21, 535 M km
MR — T NVAER 1 kmS 72 0 a2 (FR L) 15, 740 M km MR — T VAER 1 km¥S 72 0 a2 g (FR L) 22, 578 M km
MAFRIE A — T NVAER 1 km¥S 72 0 a2 (R 15, 540 M km MR — T VAER 1 km¥S 72 0 a2 (FERER) 22, 280 M km
MAFRIE A — T VAR 1 km¥S 72 0 a2 (RIGE) 15, 092 M km MIAFRIE A — T Ve R 1 km¥S 72 0 a2 (RIGE) 21, 610 M km
MR — T NVAER 1 km¥S 72 0 a2 E (REACIR) 14, 892 M km MR — T NVAER 1 kmS 72 0 S a2 (REACIR) 21, 386 M km
MR — T NVAER 1 km¥S 72 0 a2 (K5 14, 992 M km MR — T NVAER 1 km¥S 72 0 a2 (K5 21, 535 M km
MIAFRIE A — T NVAER 1 km¥S 72 0 a2 (R IF L) 14, 793 M. km MIAFRIE A — T VAER 1 km¥S 72 0 a2 (R IF L) 21, 163 M km
MR — T VAR 1 km¥4 72 0 fa g2t (IR SIR) 15, 092 M km MAFRIE — T VAR 1 km¥4 72 0 fa gk et (IR SIR) 21, 610 M km
TN — T NVAER 1 km¥S 72 0 a2 g (PhHELL) 13, 945 M km MR — T VAE R 1 km¥S 72 0 S a2 E (PPHELL) 19, 747 M km
MR — T VIMAFE IR Y 72 0 figk ket 138 | M /[El#R ISR — T VIMAFERIFR Y 72 0 figk ket 142 | M /E#R
HHERIE 7 — T VAR 1 km4 72 0 sk 2% (ALimE) 93, 843 M km HHERIE 7 — T VAER 1 km4 72V gk 2% (ALimE) 95, 500 M km
R — 7 NVIER 1 km4 72 0 sk e (&R 88, 576 M km HFRERE 7 — 7 NVER 1 km4 72 0 sk et (F&RR) 90, 158 M km
HFHERIE 7 — T VAR 1 km4 72 0 gk 28 CHTIR) 91, 795 M km HHERIE T — T VAR 1 km4 72 V0 gk 28 CHTIR) 93, 615 M km
HHERIE 7 — T VAR 1 km4 72 0 sk 28 (ERIR) 96, 184 M km HHERIE 7 — T VAR 1 km4 72 0 sk 28 (ERIR) 98,014 M km
R — 7 NVER 1 km4 72 0 sk R % (BKHR) 90, 624 M km R — 7 NVIER 1 km4 72 0 sk R % Bk R) 92, 358 M km
HHERIE 7 — T VAR 1 km4 72V sk 2% (LBIR) 93, 258 M km HHERIE 7 — T VAR 1 km4 72 V0 sk R (LBIR) 94, 872 M km
R — 7 NVIER 1 km4 72 V0 sk 2% (F8 5 15) 95, 014 M km R — 7 NVIER 1 km4 72 0 sk 2% (F8 5 15) 96, 443 M km
HHERIE 7 — T VAR 1 km4 72 0 sk 28 (RIRIR) 94, 429 M. km HHERIE 7 — T VAER 1 km4 72 0 sk 28 (RIIR) 97, 700 M km
HHERIE 7 — T VAR 1 km4 72 0 sk 28 (FARIR) 93, 551 M km HHERIE 7 — T VAR 1 km4 72 0 sk 28 (FARIR) 96, 757 M km
HHERIE 7 — T VAR 1 km4 72 0 sk 2% (BEBIR) 92, 380 M km HHERIE 7 — T VAR 1 km4 72 0 sk 28 (BEBIR) 95, 500 M km
HFRERE 7 — 7 NVER 1 km4 72 0 sk e (B ER) 98, 818 M km HFRERE 7 — 7 NVER 1 km4 72 0 sk e (B ER) 102, 099 M km
HHERIE 7 — T VAER 1 km4 72 0 gk 2% (TER) 99, 403 M km HHERIE 7 — T VAR 1 km4 72 0 gk 2% (TIER) 102, 728 M km
R — 7 NVER 1 km4 72 0 sk a2 (THER) 105, 841 M km R — 7 NVER 1 km4 72 sk R % (ETHER) 109, 327 M km
kR — T VIER 1 km4 72 0 fia% (22 (4311 0%) 99, 696 M, km kR — T VIER 1 km4 72 0 Sk (22 (4311 0%) 103, 042 M km
HHERIE 7 — T VAR 1 km4 72 V0 sk 28 (iaR) 93, 551 M. km HHERIE 7 — T VAR 1 km4 72 V0 sk 2% (iaIR) 95, 815 M km
HHERIE 7 — T VAR 1 km4 72 0 gk 2% (F1ILIR) 96, 770 M km HHERIE 7 — T VAR 1 km4 72 V0 sk 2% (F1ILIR) 98, 957 M km
R — 7 NVIER 1 km4 72 0 sk e (0)11R) 97, 062 M km R — 7 NVIER 1 km4 72 0 sk e (4)11R) 99, 271 M/ km
RS — 7 NVIER 1 km4 72V sk 2% (FEH1R) 87, 406 M km R — 7 NVER 1 km4 72 Y sk e (FEH1R) 90, 472 M km
R — 7 NVIER 1 km4 72 0 sk R % (LLELR) 98, 233 M km R — 7 NVER 1 km4 72 0 sk PR % ([LELR) 101,471 M km
HHERIE T — T VAR 1 k4 72 0 ik 28 (RFR) 93, 843 M km HFHERIE 7 — T VAR 1 k4 72 0 ik 28 (RFR) 97,072 M km
R — 7 NVER 1 km4 72 0 ek R gy (I B R) 92, 380 M/ km R — 7 NVER 1 km4 72 V0 iRk R gy (I B IR) 96, 443 M km
HHERIE 7 — T VAR 1 km4 72 0 gk 8 (5 IR) 96, 184 M km HHERIE 7 — T VAR 1 km4 72 0 sk 8 (5 IR) 100, 214 M km
HFRERSE 7 — 7 NVER 1 km4 72 0 iRk R s (B nR) 92, 673 M km R — 7 NVER 1 km4 72 0 iRk R s (B FnR) 96, 757 M km
HHERIE 7 — T VAR 1 km4 72 0 gk 2% (ZER) 92, 966 M km HFHERIE 7 — T VAR 1 km4 72 0 gk 2% (ZER) 97,072 M km
HHERIE 7 — T VAR 1 km4 72 0 sk 2% (RAER) 91, 502 M km HHERIE 7 — T VAR 1 km4 72 0 sk 28 (RAER) 94, 243 M km
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HHERIE 7 — T VAER 1 km4 72V sk 2% CGRBRT) 89, 747 M km HHERIE 7 — T VAR 1 km4 72 V0 sk 2% CGRBRT) 92, 672 M km
HHERIE 7 — T VAR 1 km4 72 0 sk 2% (KRBT 92, 380 M km HHERIE 7 — T VAR 1 km4 72 0 sk 8 (RBRAF) 95, 500 M km
HHERIE 7 — T VAR 1 km4 72 0 gk % (JLEEIR) 88, 869 M, km HHERIE 7 — T VAR 1 km4 72 0 sk % (JLEEIR) 91,729 M km
R — 7 NVIER 1 km4 72 0 sk e (RER) 91, 502 M km R — 7 NVER 1 km4 72 0 sk e (KRR 94, 243 M/ km
kR — T VIER 1 km4 72 0 Sk (22 (Fodkiliik) 91, 795 M km kR — T VIER 1 km24 72 0 faa% (22 (Fndkilik) 94, 558 M km
R — 7 NVER 1 km4 72 0 sk Rt (BHUR) 84, 479 M km R — 7 NVER 1 km4 72 0 sk et (BHUR) 87, 959 M km
HFRERE 7 — 7 NVER 1 km4 72 0 sk R % (FIRIE) 84, 479 M km R — 7 NVER 1 km4 72 0 sk e (BIRIE) 87, 959 M km
R — 7 NVER 1 km4 72 0 gk frage (] 1L IR) 86, 235 M km R — 7 NVER 1 km4 72 0 sk frage (] 1L IR) 89, 844 M km
R — 7 NVER 1 km4 72 0 sk R % (R 5 R) 87,991 M km R — 7 NVER 1 km4 72 0 i sk R % (X5 R) 91, 729 M km
R — 7 NVIER 1 km4 72 0 gk R % (Lo &) 86, 820 M km R — 7 NVIER 1 km4 72 0 gk PR e% (Lo &) 90, 472 M km
R — 7 NVIER 1 km4 72 0 sk R % (1) 87,991 M km R — 7 NVER 1 km4 72 0 sk et (R 1R) 92, 044 M km
HHERIE 7 — T VAR 1 km4 72 V0 gk 28 (FIIIR) 89, 161 M km HHERIE 7 — T VAR 1 km4 72 0 gk 28 (FIIIR) 93, 301 M km
HHERIE 7 — T VAR 1 km4 72 V0 gk 28 (BigR) 86, 235 M. km HHERIE 7 — T VAR 1 km4 72 0 gk 28 (BigR) 90, 158 M. km
HFRERSE 7 — 7 NVER 1 km4 72V sk 2% (R %R) 86, 235 M km RS — 7 NVER 1 km4 72 0 fEsk 2% (R %0R) 90, 158 M km
R — 7 NVER 1 km4 72V sk R % (FF [ ) 91, 795 M/ km R — 7 NVER 1 km4 72 0 sk Rt (FF [ ) 94, 558 M/ km
R — 7 NVER 1 km4 72 0 sk Rt (A R) 90, 624 M km HFRERE 7 — 7 NVER 1 km4 72 0 sk R (A R) 93, 301 M km
R — 7 NVER 1 km4 72 Y sk 2% (FIgR) 87,991 M/ km R — 7 NVER 1 km4 72 Y sk et (RIFR) 90, 472 M/ km
HFRERE 7 — 7 NVIER 1 km4 72 Y sk 2% (REAR) 86, 820 M km R — 7 NVER 1 km4 72 0 sk e % (REAR) 89, 530 M km
R — 7 NVER 1 km4 72V sk R e% (K R) 87, 406 M km R — 7 NVER 1 km4 72 0 sk R e% (K R) 90, 158 M km
HHERIE 7 — T VAR 1 km4 72 V0 sk 28 (EIFIR) 86, 235 M, km HHERIE 7 — T VAR 1 km4 72 V0 sk 28 (EIRIR) 88, 587 M km
PRI — T AR 1 km¥4 72 0 gk (BRI IR) 87,991 M/ km PRI — T VAR 1 km¥4 72 0 gkt (BRI IR 90, 472 M/ km
HHERIE 7 — T VAR 1 km4 72 0 sk 2% (hREIR) 81, 260 M km HHERIE 7 — T VAR 1 km4 72 0 sk 2% (hREIR) 82, 616 M km
RN — 7 VAL 1 km¥4 72 0 Mgk fra (ki) 316,591 M km RN — 7 VLR 1 km4 72 0 Mgk fr e (ki) 286, 944 M km
MR — 7 VAL 1 km¥4 72 0 Mgk fr 2 (FARE) 298, 520 M km MR — 7 VLR 1 km¥4 72 0 Mgk fr e (AR 270, 595 M km
MR — 7 VLR 1 km¥4 72 0 Mgk R 2% CETR) 309, 563 M km WEN 7 — 7 VLR 1 km¥4 72 0 Mgk R 2% CET ) 281,174 M km
RS — 7 VAER: 1 km24 72 0 fik et (i) 324, 623 M/ km RS — 7 VAER 1 km24 72 0 Sk et (ki) 294, 637 M/ km
MR — 7 VAL 1 km4 72 0 Mgk fra% (BRI 305, 547 M km MR — 7 VLR 1 km4 72 0 Mgk fra (BKE ) 2717, 327 M km
RN — 7 VLR 1 km¥4 72 0 sk R 2% (L) 314,583 M km WEN 7 — 7 VLR 1 km¥4 72 0 sk R (LB 285, 020 M km
MR — 7 VLR 1 km¥4 72 0 Mgk R 2% (RS 320, 607 M km MR — 7 VLR 1 km¥4 72 0 Mgk R 2% (SR 289, 829 M km
RN — 7 VAL 1 km¥4 72 0 sk R (R 318,599 M km RN — 7 VLR 1 km¥4 72 0 sk R (R 293, 676 M km
RN — 7 VLR 1 km¥4 72 0 Mgk R (WA 315, 587 M km MR — 7 VLR 1 km4 72 0 Mk R (WA 290, 791 M km
RN — 7 VLR 1 km¥4 72 0 Mgk R (BEG IR 311,571 M km WEN 7 — 7 VLR 1 km¥4 72 0 sk R (BEG IR 286, 944 M km
MR — 7 VLR 1 km¥4 72 0 Mgk R 2 (BFER) 333, 658 M km MR — 7 VLR 1 km¥4 72 0 Mk R 2% (BFER) 307, 140 M km
MR — 7 VLR 1 km¥4 72 0 Mgk R (TZER) 335, 666 M km RN — 7 VLR 1 km¥4 72 0 Mgk R e (TZER) 309, 063 M km
RN — 7 VLR 1 km¥4 72 0 Mgk fr 2% (BAUHD) 357,754 M km MR — 7 VLR 1 km4 72 0 Mgk fr 2% (BURUHD) 329, 259 M km
RS — 7 VAER 1 km24 72 0 Sk ety (FhZ)11R) 336, 670 M km RS — 7 VAER 1 km24 72 0 Sk ety (P71 1R) 310, 025 M km
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Nl e L S - : TJP r‘
M7 — 7 HER | k2 ) HGRERAR (AL 326,631 WENY —7 AR L k7 b ERESR FRIA) 287,
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AANA—T VLR 1 km¥4 72 0 Mgk fh e (REAIR) 90, 146 M km AANA—TVAER 1 km¥4 72 0 Mgk fh 2 (REAIR) 101,417 M km
AB N —T VAR 1 km¥4 72 0 sk fr e (Ko 90, 749 M km AL N —T VLR 1 km¥4 72 0 gk fh e (Ko 102, 124 M km
AB N —T VLR 1 km¥4 72 0 Mgk fh 2 (BRI 89, 543 M km AB N —TVAEE 1 km¥4 72 0 Mgk fh 2 (BRI 100, 357 M km
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MAFRIE A — T VAR 1 km¥S 72 0 st 2 (FHRE) 15, 191 M km MR — T Ve R 1 km¥S 72 0 st 2 (FHRE) 21, 535 M km
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MAFRIE A — T VAER 1 km¥S 72 0 S a2 (LB 15, 989 M km MR — T VAER 1 km¥S 72 0 S a2 (ILTBE) 22, 653 M km
MAFRIE A — T NVAER 1 km¥S 72 0 a2 (A5 16, 288 M. km MAFRIE A — T VAR 1 km¥S 72 0 a2 (A5 23, 025 M km
MR — T NVAER 1 km¥S 72 0 a2 (R 16, 188 M km MAFIE A — T NVAER 1 km¥S 72 0 a2 () 23, 323 M km
MR — T NVAER 1 km¥S 72 0 a2 (AL 16, 039 M. km MAFIE A — T NVAER 1 km¥S 72 0 a2 (HiALE) 23, 100 M km
MR — T NVAER 1 km¥S 72 0 a2 (BEB ) 15, 839 M km MR — T VAR 1 km¥S 72 0 a2 (BEB ) 22, 802 M km
MR — T NVAER 1 km¥S 72 0 a2 (B EE) 16, 936 M. km MR — T VAR 1 km¥S 72 0 a2 (B ER) 24, 367 M km
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MAFRIE A — T NVAER 1 km¥S 72 0 a2 (IR 14, 992 M km MR — T NVAER 1 km¥S 72 0 a2 (IR 21, 610 M km
MIAFRIE A — T VAER 1 km¥S 72 0 S a2 E (ILBLE) 16, 836 M km MR — T VAER 1 km¥S 72 0 S s 2E (ILBLE) 24, 218 M km
MR — T NVAER 1 km¥S 72 0 a2 (REFE) 16, 089 M km MR — T NVAER 1 km¥S 72 0 a2 (REFE) 23, 174 M km
MR — T VAER 1 km¥S 72 0 S a2 E (I B 1) 15, 839 M km MR — T NVAER 1 km¥S 72 0 a2 E (I B 1) 23, 025 M km
MR — T NVAER 1 km¥S 72 0 a2 E (L) 16, 487 M km MR — T VAER 1 km¥S 72 0 a2 g () 23, 920 M km
MIAFRIE A — T VAER 1 km¥S 72 0 a2 (B 15, 889 M km MAFRIE A — T NVAER 1 km¥S 72 0 a2 (B 23, 100 M km
MIAFRIE A — T Ve R 1 km¥S 72 0 a2 (ZER) 15, 939 M km MAFRIE A — T VAR 1 km¥S 72 0 fis 2 (ZER) 23, 174 M km
MIAFRIE A — T NVAER 1 km¥S 72 0 a2 (PR 15, 690 M. km MR — T VAER 1 km¥S 72 0 a2 (B R) 22, 504 M km
MIATIE A — T NVAE R 1 km¥S 72 0 S a2 (U 15, 391 M km MIAFIE A — T NVAER 1 kmS 72 0 S a2 (LRI 22,131 M km
MR — T NVAE R 1 km¥S 72 0 S a2 (ORBRF) 15, 839 M km MR — T NVAER 1 km¥S 72 0 S a2 (ORBRF) 22, 802 M km
MR — T VAR 1 km¥S 72 0 S 2 E (JLEER) 15, 241 M km MR — T NVAER 1 kmS 72 0 S a2 E (JLEER) 21, 908 M km
MAFRI A — T Ve R 1 km¥S 72 0 st 2 (KRB 15, 690 M km MAFRIE A — T VAR 1 km¥S 72 0 a2 (FRE) 22, 504 M km
MR —T VAR 1 km¥4 72 0 fg g g (Fnakil =) 15, 740 M. km MR — T VAR 1 km¥4 72 0 fa g g (Fnakil =) 22, 578 M km
MR — T NVAER 1 km¥S 72 0 S a2 (SHR) 14, 493 M km MAFRIE A — T NVAER 1 km¥S 72 0 S a2 (SR 21,014 M km
MR — T NVAER 1 km¥S 72 0 a2 (BRI 14, 493 M km MR — T NVAER 1 km¥S 72 0 S a2 (BRI 21,014 M km
MIAFRIE A — T NVAER 1 kmS 72 0 S g (L) 14, 793 M km MR — T NVAE R 1 kmS 72 0 S g (L) 21, 461 M km
MIAFIE A — T NVAER 1 km¥S 72 0 a2 (L5 15, 092 M km MAFRIE A — T NVAE R 1 km¥S 72 0 a2 (L5 21, 908 M km
MR — T NVAE R 1 km¥S 72 0 a2 E (L m ) 14, 892 M km MR — T VAER 1 km¥S 72 0 S E (L m s 21, 610 M km
MAFRIE A — T NVAER 1 km¥S 72 0 a2 (5 15, 092 M. km MR — T NVAER 1 km¥S 72 0 a2 (A5 21, 982 M km
MR — T VAER 1 km¥S 72 0 a2 (F)IE) 15, 291 M km MR — T VAER 1 km¥S 72 0 a2 (&) 22, 280 M km
MAFIE A — T NVAER 1 km¥S 72 0 a2 (BER) 14, 793 M km MR — T NVAER 1 km¥S 72 0 a2 (BER) 21, 535 M km
MIAFRIE A — T NVAE R 1 km¥S 72 0 a2 (Fa) 14, 793 M km MIAFRIE A — T NVAER 1 km¥S 72 0 a2 (Fa) 21, 535 M km
MR — T NVAER 1 kmS 72 0 a2 (FR L) 15, 740 M km NN — T NVAER 1 km¥S 72 0 a2 g (FR L) 22, 578 M km
MIAFRIE A — T NVAER 1 km¥S 72 0 S a2 (R 15, 540 M km MR — T NVAER 1 km¥S 72 0 a2 (FERE) 22, 280 M km
MAFRIE A — T VAR 1 km¥S 72 0 a2 (RIGE) 15, 092 M km MAFRIE A — T NVAER 1 km¥S 72 0 a2 (RIGE) 21, 610 M km
MIAFTIE A — T NVAER 1 km¥S 72 0 a2 (REACIR) 14, 892 M. km MIAFRIE A — T NVAER 1 km¥S 72 0 S a2 g (REAIR) 21, 386 M km
MR — T NVAER 1 km¥S 72 0 a2 (K5 14, 992 M km MR — T NVAER 1 km¥S 72 0 a2 (K5 21, 535 M km
MIAFIE A — T VAER 1 km¥S 72 0 a2 (R If ) 14, 793 M. km MR — T VAER 1 km¥S 72 0 a2 (R If ) 21, 163 M km
MR — T VAR 1 km¥4 72 0 fa g2t (IR SIR) 15, 092 M km MR — T VAR 1 km¥4 72 0 fa gk et (IR SIR) 21, 610 M km
TN — T NVAER 1 km¥S 72 0 a2 g (PhHELL) 13, 945 M. km MIAFIE A — T NVAER 1 km¥S 72 0 S E (PhHEL) 19, 747 M km
MR — T VIMAFE IR Y 72 0 figk ket 138 | M /[El#R ISR — T VIMAFERIFR Y 72 0 figk ket 142 | M /E#R
HHERIE 7 — T VAR 1 km4 72 0 sk 2% (ALimE) 93, 843 M km HHERIE 7 — T VAR 1 km4 72V sk 2% (ALimE) 95, 500 M km
HRERE 7 — 7 NVIER 1 km4 72 0 sk e (F&RR) 88, 576 M km HRERE 7 — 7 NVIER 1 km4 72 0 sk e (H&RR) 90, 158 M km
HHERIE 7 — T VAR 1 km4 72 V0 gk 28 CHTIR) 91, 795 M km HHERIE T — T VAR 1 km4 72V ik 28 CHTIR) 93, 615 M km
HHERIE 7 — T VAR 1 km4 72 0 sk 28 (EIRIR) 96, 184 M km HHERIE 7 — T VAR 1 km4 72 0 sk 28 (ERIR) 98,014 M km
R — 7 NVER 1 km4 72 0 sk % Bk R) 90, 624 M km R — 7 NVER 1 km4 72 0 sk a2 (BKHR) 92, 358 M km




HHERIE 7 — T VAR 1 km4 72 0 sk 2% (LBIR) 93, 258 M km HHERIE 7 — T VAR 1 km4 72 0 sk 2% (LBIR) 94, 872 M km
HHERIE 7 — T VAR 1 k4 72 0 ik 28 (R E5R) 95,014 M km HHERIE 7 — T VAR 1 k4 72 0 ik 28 (R ER) 96, 443 M km
HHERIE 7 — T VAR 1 km4 72 0 sk 28 (RIIR) 94, 429 M km HHERIE 7 — T VAR 1 km4 72 0 sk 28 (RIIR) 97, 700 M km
R — 7 NVER 1 km4 72 0 i sk R (HiAR) 93, 551 M km R — 7 NVER 1 km4 72 0 iRk R (HiAR) 96, 757 M/ km
HHERIE 7 — T VAR 1 km4 72 0 sk 28 (BEBIR) 92, 380 M km HHERIE 7 — T VAR 1 km4 72 0 sk 2% (BEBIR) 95, 500 M km
HFRERE 7 — 7 NVIER 1 km4 72 Y sk 2% (B ER) 98, 818 M/ km HFRERE 7 — 7 NVER 1 km4 72 0 sk e (B ER) 102, 099 M,/ km
HHERIE T — T VAR 1 km4 72 0 gk 2% (TIER) 99, 403 M km HFHERIE T — T VAR 1 km4 72 0 gk 2% (TIER) 102, 728 M km
GRS — 7 NVIER 1 km4 72 0 sk a2 (RTHER) 105, 841 M km R — 7 NVER 1 km4 72 0 sk a2 (HTHER) 109, 327 M km
PRI — T VAR 1 km¥4 72 0 sk e (RhZR) 1R 99, 696 M km PRERIE S — T VAR 1 k¥4 72 0 sk et (RhZs)1IR) 103, 042 M km
HHERIE 7 — T VAR 1 km4 72 0 sk 2% (iaR) 93, 551 M km HHERIE 7 — T VAR 1 km4 72 0 sk 2% (iaIR) 95, 815 M km
R — 7 NVIER 1 km4 72 0 sk R e% (F 1LR) 96, 770 M km R — 7 NVER 1 km4 72 0 sk R e% (F 1LR) 98, 957 M km
HHERIE 7 — T VAR 1 km4 72 0 sk 2% CR)IIR) 97, 062 M, km HHERIE 7 — T VAR 1 km4 72 0 sk 28 CR)IIR) 99, 271 M/ km
HHERIE 7 — T VAR 1 km4 72 0 sk 28 (RHIR) 87, 406 M./ km HHERIE 7 — T VAR 1 km4 72V sk 2% (RHIR) 90, 472 M/ km
R — 7 NVER 1 km4 72 0 sk R a2 (LLELR) 98, 233 M km R — 7 NVER 1 km4 72 0 gk PR ae% (LLFLR) 101,471 M km
HHERIE 7 — T VAR 1 k4 72 0 ik 28 (RFR) 93, 843 M km HHERIE 7 — T VAR 1 km4 72 0 ik 28 (RFR) 97,072 M km
R — 7 NVER 1 km4 72 0 sk gy (I B IR) 92, 380 M km R — 7 NVER 1 km4 72 V0 sk R gy (I B IR) 96, 443 M km
HHERIE 7 — T VAER 1 km4 72 0 sk 8 (5 IR) 96, 184 M km HHERIE 7 — T VAR 1 km4 72 0 sk 8 (5 IR) 100, 214 M km
R — 7 NVER 1 km4 72 0 iRk R % (B HnR) 92, 673 M km GRS — 7 NVER 1 km4 72 0 iRk R % (B R) 96, 757 M km
HHERIE T — T VAR 1 k4 72 0 gk 2% (ZER) 92, 966 M. km R — T VAR 1 km4 72 0 gk 2% (ZER) 97,072 M km
HHERIE 7 — T VAR 1 km4 72 0 sk 28 (RAR) 91, 502 M km HHERIE 7 — T VAR 1 km4 72 V0 sk 28 (RAER) 94, 243 M km
R — 7 NVER 1 km4 72 0 sk R RUERIF) 89, 747 M/ km R — 7 NVER 1 km4 72 0 sk R (RUERIF) 92, 672 M/ km
R — 7 NVER 1 km4 72 0 sk a2 (KB 92, 380 M km R — 7 NVAER 1 km4 72 0 sk a2 (OKBRF) 95, 500 M km
R — 7 NVER 1 km4 72 0 sk Rty (JLjfR) 88, 869 M km R — 7 NVER 1 km4 72 0 sk e sy (ST R) 91, 729 M km
HFRERE 7 — 7 NVER 1 km4 72 0 sk e (RER) 91, 502 M km HFRERE 7 — 7 NVIER 1 km4 72 0 sk e (RER) 94, 243 M km
kR — T VIER 1 km4 72 0 Sk (22 (Fodkiliik) 91, 795 M km kR — T VIER 1 km4 72 0 Sk (22 (Fndkiliik) 94, 558 M km
PRI — T VIR 1 km 72 0 gkt (SEUR) 84, 479 M km R — 7 NVER 1 km4 72 0 sk et (HUR) 87, 959 M/ km
PRI — T VIR 1 km4 72 0 gk e (BARIR) 84, 479 M km R — 7 NVER 1 km4 72 0 sk R % (FIRIE) 87, 959 M km
HHERIE 7 — T VAR 1 km4 72V sk g (1L IR) 86, 235 M. km HHERIE 7 — T VAR 1 km4 72 0 sk % (L IR) 89, 844 M km
R — 7 NVER 1 km4 72 0 sk 2% (X5 R) 87,991 M km R — 7 NVER 1 km4 72 0 sk R % (X5 R) 91, 729 M km
R — 7 NVIER 1 km4 72 0 sk PR % (Lo &) 86, 820 M km R — 7 NVIER 1 km4 72 0 sk P2 (Lo &) 90, 472 M km
R — 7 NVER 1 km4 72 0 sk R % (R 1R) 87,991 M km R — 7 NVER 1 km4 72 0 sk e % (R 1R) 92, 044 M km
HHERIE 7 — T VAR 1 km4 72 0 sk 28 (FIIIR) 89, 161 M km HHERIE 7 — T VAR 1 km4 72 0 gk 28 (FIIIR) 93, 301 M km
HHERIE 7 — T VAR 1 km4 72 0 gk R 28 (BigIR) 86, 235 M km HHERIE 7 — T VAR 1 km4 72 0 gk 28 (BigR) 90, 158 M km
R — 7 NVER 1 km4 72 0 fEsk R 2% (R %0R) 86, 235 M km HRERSE 7 — 7 NVER 1 km4 72V fEsk R % (R %0R) 90, 158 M km
HHERIE 7 — T VAR 1 km4 72 0 sk 2% (R IR) 91,795 M km HHERIE 7 — T VAR 1 km4 72 0 sk % (R IR) 94, 558 M km
R — 7 NVIER 1 km4 72 0 sk et (A R) 90, 624 M km R — 7 NVER 1 km4 72 0 sk e (A R) 93, 301 M km
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BT T AER 1 kS 7 D) Hik
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Sl mi7- 0 Mk et (i) 316,591 S 7~ MER Lk 72 Y HR A # (LR 82,6
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MR — 7 VLR 1 km¥4 72 0 Mgk R (SEUR) 284, 464 M km MR — 7 VLR 1 km4 72 0 Mgk fr e (SEUR) 263, 863 M km
WEN S — 7 VLR 1 km¥4 72 0 Mk R (SR 284, 464 M km RN — 7 VLR 1 km¥4 72 0 sk iR (SR 263, 863 M/ km
MR — 7 VAL 1 km4 72 0 Mgk frad ()10 6 290, 488 M km RN — 7 VAL 1 km4 72 0 Mgk e (10 ) 269, 633 M km
WEN 7 — 7 VLR 1 km¥4 72 0 Mgk R 2% (R 296,512 M km WEN 7 — 7 VLR 1 km¥4 72 0 Mgk R e (X&) 275, 403 M/ km
RS — 7 VAR R 1 km24 72 0 Sk frade (Lo &) 292, 496 M km RS — 7 VAR R 1 km24 7= 0 Sk frade (Lo &) 271,557 M km
RN — 7 VLR 1 km¥4 72 0 Mgk R e (SR 296,512 M km WEN S — 7 VLR 1 km¥4 72 0 Mgk R e (SR 276, 365 M km
MR — 7 VLR 1 km¥4 72 0 Mgk fr e (F)IER) 300, 528 M km MR — 7 VLR 1 km¥4 72 0 Mgk R (F)IE) 280, 212 M km
RN — 7 VLR 1 km¥4 72 0 Mgk R (g 290, 488 M km RN — 7 VLR 1 km¥4 72 0 Mgk R (g 270, 595 M km
MR — 7 VLR 1 km¥4 72 0 Mgk R (R 290, 488 M km MR — 7 VLR 1 km¥4 72 0 Mk R (R ) 270, 595 M km
RN — 7 VLR 1 km4 72 0 Mgk fr2s (R b 309, 563 M km MR — 7 VLR 1 km4 72 0 Mgk fr s (R i) 284, 059 M km
MR — 7 VLR 1 km¥4 72 0 Mgk fr e (B 305, 547 M km MR — 7 VAL 1 km¥4 72 0 Mgk fr e (R 280, 212 M km
RS — 7 VAR R 1 km4 72 0 figk (Rt (R R) 296,512 M km WL — 7 VAR R 1 km24 72 0 Sk Rt (R R) 271,557 M km
RN — 7 VLR 1 km¥4 72 0 Mgk R (REAIR) 292, 496 M km WEN 7 — 7 VLR 1 km¥4 72 0 sk R (REAIR) 268, 672 M km
MR — 7 VLR 1 km¥4 72 0 Mgk R 2 (Ko 294, 504 M km MR — 7 VLR 1 km¥4 72 0 Mgk R 2 (Ko ) 270, 595 M km
WEN 7 — 7 VLR 1 km¥4 72 0 Mk R (BRI 290, 488 M/ km WEN 7 — 7 VLR 1 km¥4 72 0 Mk R (BRI 265, 786 M/ km
RS — 7 VAR R 1 km4 72 0 Sk ety (VLS IR) 296,512 M km RS — 7 VAR R 1 km24 72 0 Sk ety (VLS IR) 271,557 M km
RN — 7 VAL 1 km¥4 72 0 Mgk R (W) 273, 421 M/ km WEN 7 — 7 VLR 1 km¥4 72 0 Mgk R (W) 247,514 M/ km
BHIER 1 km4 72 V) Mg (R E 52, 042 M km BRIER 1 km4 72 V) Mg (R E 52, 178 M km
P OREREER 1 knY 72 0 iR 52, 042 M km P OREREE 1 knY 72 0 iR 52, 178 M km
L OBEEERE 1 km¥Y 72 sk R R 52, 042 M, km L OEEERE 1 km¥Y 72 sk R ER 52,178 M km
HFEEEER 1 km%4 72 0 ik Rt 52, 042 M/ km HFENEEER 1 kmX%4 72 0 ik Rt 52,178 M, km
HIGRE IR 1 km 7= 0 fi sk g 52, 042 M km HIGREIRER 1 km 72 0 fi sk g 52, 178 M km
BRI FEIEIC R 1 km2Y 7= 0 fi R 2T 52, 042 M km BRI FENEIC R 1 km2Y 7= 0 i 3R 2T 52, 178 M km
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L 95E 1 km¥Y 72 v ER 5 R 680, 362 M km L 95E 1 km¥Y 72 v ERS SR 678, 185 M km
AR v 7 Z 1 km4 7= 0 W@ 5 AR 3,581 M. km AR v 7 Z 1 km4 7= 0 W@ 5 AR 3,569 M. km
HIRARE R 1 km2 72 0 8 # S AR 3,581 M km HIRARE R 1 km2 72 0 8 # S AR 3, 569 M km
EARACFEIE 1 km4 72 0 R 5 AR 3,581 M km EARACFEIE 1 km4 72 0 R S5 AR 3,569 M km
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